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2052996

20529¢ =

2052996
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2052996
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2052996
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2052996
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2052996
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2052996
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2052996

20529¢ =

2052996

20529¢ =

2052996

20529¢ =

0

1052990

2105980

3158970

4211960

5264950

6317940

7370930

8423920

9476910

10529900

11582890

12635880

13688870

14741860

15794850

16847840

17900830

18953820

20006810
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20529¢ =
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1052996
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20529¢ =
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26324750
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37907640
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40013620

41066610
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43172590
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20529¢ =

1052996

20529¢ =

2052996

20529¢ =

1052996

20529¢ =

1052996

45278570

46331560

47384550

48437540

49490530

50543520

51596510

52649500
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